1074

1072

10°E:

1.U0]

098

1= 3

60. O(-]BOGHAO&IOOZO 0. 0020(.@0(1&008) 01

107t

..............

0.95

—U?cOOBJO&)OéDOZO 002{)0400600801

107}

1072E

10k

L.V
L

i

e

2

, ~°Ff

%'%%tam -00

0.95

% 50.08" oeo'040 02 o 0.02.040.060.08 0.1

—=— DQM_TT__mkFit-DQM_time_orig2
= DQM_TT__mkFit-DQM_time_mod2

1074

1072

TIes
H E Dev 8 88[8
. onstanl

’%%%%%

1074

1072

T B 1]
—0.60.06@ 086.062.0020 0.00Z002L006.008.01

107}

1072

1072

.
e
-

107F
it

TIes
H i Bev
. onstant _

04002 0 0.020-040-080.

1072k

mes o
d i Bev
. onstant o

0.95L

S o p—a
2| e 7
Euﬂgev %
onstant
. 0
i

2%.20.000.0.040.02 o o 02,0700 050.1




	Contents
	Page 1


